):0:9:9.:0:9:9.:9:9:9.0:9.:9.0:9:9.0:9:9.0:9:9.0:9:9.0:0.:9.0:0.9.0:9:9.0:9:0.0:9:9.0:0:9.0:0:9.0:0:9.0.9:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:0.0:0:0.0,0:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:0.0:0.:9.0.0.0.

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXKXXKXKXKKX XX XXX K XX XXX XXX KKK XXX KKK KKK EXEXXX KK XEXXX XK KXKXXXKXKKXKXMS/1-6500311-00001XX
Matrices02 for No.9395

3 2 2 2 3 3
A:[-1z],B:[-7_0],c:['§ S}D:[z iﬂE: 2 2 0LF=|3 4 3[771_—21}
- © 2 4 2 0 4 3]°P7
2 3 3
N009=[det([3 xDzl},NolO: det| | 4 -3 -3 :—6,N011:[G:[_2 Sﬂ
4 3 5 5
2y 3
[ x+2y=0 y-2z=19
4x-5y=-1 2x—4y=-2
Systemlz[_sx fij —IZ)}’ ,SystemZz[ f2 _y _88}, ,System3 = y-3z=-5 | ,System4d=|-3x+3y=15
xTAY= rTr= | 2x-2z=-22 Bxtz=-2

);9:9:9.0:9:9.0:9.:0.0:9.:0.0:9.:9.0:9:9.0:9.0.0:9.:0.0:0.9.0:9.9.0:9:9.0:9:0.0:9:0.0:9.:0.0:0.:0.0:9.:0.0:9:9.0:9:9.0:9.:9.0:0:9.0:0:9.0:9:9.0:9:9.0:9:9.0:0:9.0:0:9.0:0:9.0:9:9.0:9:9.0:9:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0.:0.¢

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXX XXX XXX XXX XXX XXX XXX XXX XXX XXX XXX XXX XXX XXX XXX XXX XXXXXXKXXXM5/1-6500311-00002XX
Matrices02 for No.9419

0 4 4 3 3 0
A=[20],B=] 7],C=[_3 7},D:[7 4J,E= 3 2 4|F=|2 3 -3,[’”‘2}

46 63 2 4 -4 4 2 4/tP=4
r 3 y 3
No09 = det(F 4D=0},NOZO= def| 2 2 2||=60 ,Nouz[(;:[“ ‘ﬂ
L x -4 3 22
3 3 3
—5v=-121 _ _ —y+z=-2 —x-2z=13
System]:[_sx +5§/—_1522’ ,System2=[_55xj52y__245}, ,System3=| 3x-2y=71| ,System4d=| 2y-3z=11
) yeos e 2x+2z=14 2x-3y=12

X [Page = 0001] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKKKXKKXXXXKKKKKKK KKK XXX KKK KKK KKK KKK KKK KKK KKK KKKKKK



):0:9:9.:0:9:9.:9:9:9.0:9.:9.0:9:9.0:9:9.0:9:9.0:9:9.0:0.:9.0:0.9.0:9:9.0:9:0.0:9:9.0:0:9.0:0:9.0:0:9.0.9:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:0.0:0:0.0,0:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:0.0:0.:9.0.0.0.

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKKXXEXKXKK XX EXKXK XX EXKXXK KK XEXXX XXX EXKXXK KK LXK XK KXEXXX KK KXKXXXKXKKXKXMS/1-6500311-00003XX
Matrices02 for No.9428

32 2 30 2
A=[14],B=[-12],C:[3 J},D:[ 2 3},E: 4 4 OLF=[3 4 4,[’”‘2}

4 4 -10 -3 3 3 3 5 9 p=1
2 22 Ay 3 4
No09 =| det =-12 |, NolO=|det||-2 3 3 ||=-48 | Noll=|G=
x 4 -5 -2
3 -2 -4
y=3z=1 —x-3y=1
-2 =-1 -3y=-1
Systemlz[ xTY 0}, ,SystemZz[)C 3y 7}, ,System3 =|-2x+3y=-10|, ,System4=| 3y—-z=-2
—2x+3y=-22 Sx-3y=-1
x—z=-4 x-2z=-9

);9:9:9.0:9:9.0:9.:0.0:9.:0.0:9.:9.0:9:9.0:9.0.0:9.:0.0:0.9.0:9.9.0:9:9.0:9:0.0:9:0.0:9.:0.0:0.:0.0:9.:0.0:9:9.0:9:9.0:9.:9.0:0:9.0:0:9.0:9:9.0:9:9.0:9:9.0:0:9.0:0:9.0:0:9.0:9:9.0:9:9.0:9:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0.:0.¢

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXX XXX XXX XXX XXX XXX XXX XXX XXX XXX XXX XXX XXX XXX XXX XXX XXXXXXXXXM5/1-6500311-00004XX
Matrices02 for No.9459

2 4 0 2 0 2
A=[-7],B=[-21],C=[6 8},D:[-12 _12},E= 3 4 3L,F=|-2 -3 -2,[’"‘2}

+ 3 6 9 303 2 4 3 4)P=4
3 -4 2203 )
No09 =| det =2 | Nol0=|detf|2 4 4||=36|Noll=|G=
x 2 3 4
2 2

B B 3x—-y=-16 2y4+z=-3
System1=[23 x_ 44y_—2144}’ ,System2=[_32)i;y __27}, , System3=|2y+2z=-2\ , Systemd=|-3x+2y=-8
xTRY= xTar= 3x+3z=-9 3x+2z=22

X [Page = 0002] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXKKXKKKKKXKXXKKKKKKKK XXX KKK KKK KKK KK KKK KKK KKK KKK KKK KKKKK



):0:9:9.:0:9:9.:9:9:9.0:9.:9.0:9:9.0:9:9.0:9:9.0:9:9.0:0.:9.0:0.9.0:9:9.0:9:0.0:9:9.0:0:9.0:0:9.0:0:9.0.9:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:0.0:0:0.0,0:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:0.0:0.:9.0.0.0.

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXKXXEXXKK XX EXKXXK XX EXKXXK KK XEXXX XXX KKK K KK EXEXXX KK XEXXX XK XKXXXKXKKXKXMS/1-6500311-00005XX
Matrices02 for No.9476

30 4] 3 4 0
A:[-16],B=[-11],C:['§ -ﬂ’D:[lé ﬂE: 2 2 4| F=|4 2 3[m__ﬂ
2 3 4] 3 2 2|7
2 3 2 |
N009=[det([3 xD:o},Nmo: det| |y -4 2 =—66,No]]=[G=[4 ‘ﬂ
4 -4 3 -5
3 2 4 i
2y—-3z=6 -3x-y=3
—x+4y=-22 2x-3y=-1
Systemlz[ xray }, ,SystemZz[ x=3y 6}, ,System3 = x+z=-2 |, ,System4d=2y+2z=20
4x+5y=-17 x+y=2
—~x—-2y=-8 2x4+z=-2

);9:9:9.0:9:9.0:9.:0.0:9.:0.0:9.:9.0:9:9.0:9.0.0:9.:0.0:0.9.0:9.9.0:9:9.0:9:0.0:9:0.0:9.:0.0:0.:0.0:9.:0.0:9:9.0:9:9.0:9.:9.0:0:9.0:0:9.0:9:9.0:9:9.0:9:9.0:0:9.0:0:9.0:0:9.0:9:9.0:9:9.0:9:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0.:0.¢

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXX XXX XXX XXX XXX XXX XXX XXX XXX XXX XXX XXX XXX XXX XXX XXXXXXXXXM5/1-6500311-00006XX
Matrices02 for No.9491

2 3 -4 3 -3 22
A=[20],B=[-13],C=[_7 8},D=[_7 11},E: 4 4 OLF=|-2 3 2,[’"‘1}

>0 o 10 3 4 4 4 o 3]P=?
4 3 2 4y 3 2
No09 =| det =4 |, Nol0=|det| |-3 -4 -3||=-100| Noll=|G=
x -4 4 5
304 2

B B 2y-3z=7 x—-z=12
System]:[:jxty:_?ﬂ, ,SystemZzEx_Fy:;ﬂ, ,System3 = x—-y=-6 | ,Systemd=| x—y=-7
x-y= x4y = 342220 2y+z=-2

DG REETe ISR IVVCH 1D 19:9:0:0:0:0.0:0.0.0.0.0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0.0:0.0.0.9.0.0.0.0.0.0.0.0.0.9.0.9.9.9.9.9.9.9.9.9.9.9.9.9.9.9.9.9.0.0:0:0.9:0:9.9.9.0.0.0:0:9:0:9:9:9:9.9.9.9.9.9.9.9.9:9.9.9.9.9.9.0.4



):0:9:9.:0:9:9.:9:9:9.0:9.:9.0:9:9.0:9:9.0:9:9.0:9:9.0:0.:9.0:0.9.0:9:9.0:9:0.0:9:9.0:0:9.0:0:9.0:0:9.0.9:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:0.0:0:0.0,0:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:0.0:0.:9.0.0.0.

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXKXXEXXKKX XX EXKXK XX EXKXXK KK XEXXK XXX KKK K KK EXEXXXKKXEXXX KK KXKXXXKXKKXKXME/1-6500311-00007XX
Matrices02 for No.9633

- 302 2] 3.0 2
A:[12],1};:[17],(;:[;l 'ﬂ,[): 2 ﬂE: 4 0 3,F=|3 3 4[m_—21}
" T 3 4 2 4 4 4P~
(2 2 -3
NOOQ:[det([_z xD:z},Nom: detf |y 4 4 =-19,N011=[G=[4 3ﬂ
2 2 2 4
L L2 -3 4 i
1 2x—-y=-8 2x+3y=5
=-1 Xx—5y=-2
System]z[ 3%+ 3 }, ,SystemZz[ XSy 8, ,System3=| 2y—z=-6 |, ,System4d=|-3y+3z=3
—4x+4y=-20 3x+y=-4
2x+z=10 —x+2z=3

);9:9:9.0:9:9.0:9.:0.0:9.:0.0:9.:9.0:9:9.0:9.0.0:9.:0.0:0.9.0:9.9.0:9:9.0:9:0.0:9:0.0:9.:0.0:0.:0.0:9.:0.0:9:9.0:9:9.0:9.:9.0:0:9.0:0:9.0:9:9.0:9:9.0:9:9.0:0:9.0:0:9.0:0:9.0:9:9.0:9:9.0:9:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0.:0.¢

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXX XXX XXX XXX XXX XXX XXX XXX XXX XXX XXX XXX XXX XXX XXX XXXXXXKXXXM5/1-6500311-00008XX
Matrices02 for No.9711

2 2 3 3 0 -2
A:[ll],B:[22],C=[7 7J,D:[_3 l0},15: 2 4 3|F=|4 2 -4,[’"‘1}

82 412 0 3 3 4 3 3Pl
[ (T2 «x y o4 2 3
No09 =| det =8 |,NolO=|det||3 -4 3||=74|,Noll=|G=
L 3 2 3 5
4 2 2
—90 ] _ ~x+2y=-17 3x-2y=-15
System1=[3x+4y_20 , ,SystemZ:[ 2x-2y=12 }, ,System3 =| 2y+3z=2 | ,Systemd=| —x+z=11
—4x+3y=40 Sx+3y=-26

3x-3z=9 —3y—-z=5

DG RIS RIS D:19:0:0:0:0:0:0:0.0.0:0.0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0.0.0.0.9.0.0.0.0.:0.0.0.0.0.9.0.9.9.9.9.9.9.9.9.9.9.9.9.9.9:9.9.0:0.0:0:0:0:9:9.0.9.0:0.0:0:0:9:9:9:9:9.9.9.9.9.9.9.9.9:9.9.9.9.9.9.0.4



):0:9:9.:0:9:9.:9:9:9.0:9.:9.0:9:9.0:9:9.0:9:9.0:9:9.0:0.:9.0:0.9.0:9:9.0:9:0.0:9:9.0:0:9.0:0:9.0:0:9.0.9:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:0.0:0:0.0,0:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:0.0:0.:9.0.0.0.

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXKXXEXXXX XX EXKXXK XX EXEXXK XXX KKK XXX KKK KKK EXEXXX KK XEXXX KK KXKXXXKXKKXKXME/1-6500311-00009XX
Matrices02 for No.9784

2 4 4 2 30
A:[21],B:[-13],C:[-7 _3},D:[_6 4}E— 4 4 -4 F=|3 -4 4,[’"‘2}

2 -8 7 2 0 3 2 4 3 3 tP=l
2 2 y 2 -2 2 .5
No09 =| det =14 | NolO=|det||-3 -4 2||=8| Noll=|G=
-4 x 303
3 2 4
[ y+2z=-7 2x-2z=4
4 = - 2 :'2

System]=[3;cjiy_3ﬂ, ,System2=[5xx_+3y —28}’ , System3 =|2x—-y=-11| ,Systemd=|-2x-2y=06
r= r= 2x—z=-12 2y-3z=-8

);9:9:9.0:9:9.0:9.:0.0:9.:0.0:9.:9.0:9:9.0:9.0.0:9.:0.0:0.9.0:9.9.0:9:9.0:9:0.0:9:0.0:9.:0.0:0.:0.0:9.:0.0:9:9.0:9:9.0:9.:9.0:0:9.0:0:9.0:9:9.0:9:9.0:9:9.0:0:9.0:0:9.0:0:9.0:9:9.0:9:9.0:9:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0.:0.¢

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXX XXX XXX XXX XXX XXX XXX XXX XXX XXX XXX XXX XXX XXX XXX XXX XXXXXXKXXXM5/1-6500311-00010XX
Matrices02 for No.10143

4 0 2 3 20
A=[18],B=[-17],C=B ﬂ,D:[li iﬂE— 2 4 3| F=|-4 4 3,[’"_‘5}
- - 4 4 4 4 -4 3] P7
2 3
N009:[deth _4D:32},N010: detl |y -4 2 , Noll = G [4 Sﬂ
4 4 4 4
4 4 2
B B 2x-3z=0 2x—y=28
System]:[__;x;sy__l;s}, ,SystemZZBthy:é‘ﬂ, ,System3=| -3 y+z=-2| , Systemd=| y—-2z=38
X+5y= X—2yY= 2x+2y=-8 —2x-3z=-6

X [Page = 0005] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXKXXKXKKKKXXXXKKKKKKKKK XXX KKK KKK KKK LXK KKK KKK KKK KKK KKKKKK



):0:9:9.:0:9:9.:9:9:9.0:9.:9.0:9:9.0:9:9.0:9:9.0:9:9.0:0.:9.0:0.9.0:9:9.0:9:0.0:9:9.0:0:9.0:0:9.0:0:9.0.9:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:0.0:0:0.0,0:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:0.0:0.:9.0.0.0.

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXKXXEXXKK XX XXX K XX EXKXXK XXX KKK XXX KKK K KK LXK X KK XEXXX XK KXKXXXKXKKXKXME/1-6500311-00011XX
Matrices02 for No.10359

2 2 -4 30 3
A:[-23],B=[-16],C:['7 6},D:[3 'ﬂ,E: 3 0 -4 ,F=4 3 4,[’"‘2}
- 3 4| tP=4

s [ 3 4 4 4
i 2 2 -3
No09 = det([4 XD:—S},NOIO: det||-4 2 2 :-6,N0]]=[G=[2 2ﬂ
L4 2 54
3y 4
] _3x+y:-17 x_Z:_l
4y=42 - =12
System]:[s );: y_9 , ,System2=[ i%xx_+33y_16 }, ,System3=| y—z=-13 |, ,Systemd=|2y—-3z=19
e e 3x-3z=-6 2x+3y=7

);9:9:9.0:9:9.0:9.:0.0:9.:0.0:9.:9.0:9:9.0:9.0.0:9.:0.0:0.9.0:9.9.0:9:9.0:9:0.0:9:0.0:9.:0.0:0.:0.0:9.:0.0:9:9.0:9:9.0:9.:9.0:0:9.0:0:9.0:9:9.0:9:9.0:9:9.0:0:9.0:0:9.0:0:9.0:9:9.0:9:9.0:9:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0.:0.¢

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXX XXX XXX XXX XXX XXX XXX XXX XXX XXX XXX XXX XXX XXX XXX XXXXXXKXXXM5/1-6500311-00012XX
Matrices02 for No.10626

4 3 -3 3 2 4
A=[15],B=[17],C=[_2 _ﬂ,D:[-I; ﬂE: 2 2 2 F=|-3 -4 -3,[’”__ﬂ
4 4 0 3 0 3)°°P7
2 4 3
N009:[det([_2 2D:8},N010: det{[-3 2 3 :-6,N011:[G:[2 ‘ﬂ
x -2 3 -4
4 y -3
B B x—z=-8 2y—-3z=-1
System]:ttx_zy ___gﬂ, ,SystemZz[j;jg__lé(ﬂ, ,System3=| 2x+y=-8 |, ,System4d=|x+2z=-12
r= Y= y—3z=-17 x—2y=16

X [Page = 0006] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXKKKXKKXKXXXKKKKKKKKK XXX KKK KKK KKK XKLL KKK KKK KKK KKK KKKK




):0:9:9.:0:9:9.:9:9:9.0:9.:9.0:9:9.0:9:9.0:9:9.0:9:9.0:0.:9.0:0.9.0:9:9.0:9:0.0:9:9.0:0:9.0:0:9.0:0:9.0.9:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:0.0:0:0.0,0:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:0.0:0.:9.0.0.0.

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXKXXEXXKK XX EXKXXK KX EXKXXK KK XEXXX XXX KKK K KK EXEXXX KK XEXXX KK KXKXXXKXKKXKXME/1-6500311-00013XX
Matrices02 for No.11002

4 2 2 4 0 -4
A:[-lo],B:[U],C:[‘z ﬂD:[lg ‘1(5)}E= 3 4 O0LF=|2 2 3[m__ﬂ
) 4 33 33 3]P7
302 4
N009=[deth 2D=—8},N010= det{ |-3 -4 -4 =—12,N011=[G=[_4 4ﬂ
2 -3 3 2
4y -2
q 3y—z=-26 2x-2y=4
2x-5y=1 —x—-4y=-2
Systemlz[sx_l_;y_ 153}, ,SystemZz[: +y_296, ,System3 = x+y=-5 |  ,Systemd=| —y—-2z=3
rTSry= XTy=L7 3x—2z=-4 3x—2z=-13

);9:9:9.0:9:9.0:9.:0.0:9.:0.0:9.:9.0:9:9.0:9.0.0:9.:0.0:0.9.0:9.9.0:9:9.0:9:0.0:9:0.0:9.:0.0:0.:0.0:9.:0.0:9:9.0:9:9.0:9.:9.0:0:9.0:0:9.0:9:9.0:9:9.0:9:9.0:0:9.0:0:9.0:0:9.0:9:9.0:9:9.0:9:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0.:0.¢

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXX XXX XXX XXX XXX XXX XXX XXX XXX XXX XXX XXX XXX XXX XXX XXXXXXXXXM5/1-6500311-00014XX
Matrices02 for No.11188

_ 2 -3 4 4 0 -3
A=[-21],B=[-19],C= Z ﬂD:[lf ﬂEz 4 2 2F=|2 4 4[m_—21}
L6 - 0 -4 4 4 2 2|F7
- -4 2 -3
NoOQz[dﬁtt([x 3)=6},N010: det/| 2 y -4 :42,N011:[G:[2 '4ﬂ
2 -3 5 -2
3 3 4
~ ~ 2x-3y=-11 2y-2z=22
System]:[_53;+ 33y_—435}’ ,Systemzz[itx;_y __ 122}, ,System3 = x+2z=-4 |, ,Systemd=| 3x+y=-4
y= Y= 3y-3z=-6 Bx—z=-3

X [Page = 0007]

):0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:0.0:0:0.0:0:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:0.0:0:0.0:0:9.0:0:0.0:0:9.0:0:0.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:9.0:0:¢



):0:9:9.:0:9:9.:9:9:9.0:9.:9.0:9:9.0:9:9.0:9:9.0:9:9.0:0.:9.0:0.9.0:9:9.0:9:0.0:9:9.0:0:9.0:0:9.0:0:9.0.9:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:0.0:0:0.0,0:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:0.0:0.:9.0.0.0.
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Matrices02 for No.11505

4 4
A:[-lZ],B:[zl],C:[_4 2},D:[_11 J},E: 4 4
4

5 -2 2 7 _4 _4 4 0 o =1
2 3 30202 i 5 4
No09 =| det =16 [ NolO=|det|| 3 4 -3||=126| Noll=|G=
-4 x L 4 3
3y 4
x-y=-2] 2x-3y=2
System]z[_4;:y_ _636}, ,SystemZz[ xx_+35y_2 3}, ,System3=| 2x+3z=1 | ,Systemd=| x—z=-4
r= r= 3y—z=-21 3y+z=9

);9:9:9.0:9:9.0:9.:0.0:9.:0.0:9.:9.0:9:9.0:9.0.0:9.:0.0:0.9.0:9.9.0:9:9.0:9:0.0:9:0.0:9.:0.0:0.:0.0:9.:0.0:9:9.0:9:9.0:9.:9.0:0:9.0:0:9.0:9:9.0:9:9.0:9:9.0:0:9.0:0:9.0:0:9.0:9:9.0:9:9.0:9:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0.:0.¢
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Matrices02 for No.12113

0 4 4 4 0 4
A=[20],B=] 8],C=[3 _8J,D:[_6 9},E: 3 2 2| F=|2 -4 -4,[’"‘1}

4 8 43 3 4 3 4 3 4] P72
4 4 y 4 2 I 3 5
No09 =| det =0 | NolO=|det| |3 -3 3(|=-60| Noll=|G=
4 L 505
3 2 3
— = _ —y—z=-5 ] —2x+z=-15
System]:[ X+2y= 13}, ,SystemZ:[x+4y_ 11}, ,System3 =|—x+3z=-11|, ,System4d=| -y—-3z=19
4x+4y=-44 x—4y=5

3x+y=14 | x+3y=2

X [Page = 0008] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKKKXKKXXXXXKKKKKK KKK XXX KKK KKK KKK KKK XKLL KKK KKK KKK KKK KKKK



):0:9:9.:0:9:9.:9:9:9.0:9.:9.0:9:9.0:9:9.0:9:9.0:9:9.0:0.:9.0:0.9.0:9:9.0:9:0.0:9:9.0:0:9.0:0:9.0:0:9.0.9:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:0.0:0:0.0,0:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:0.0:0.:9.0.0.0.
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Matrices02 for No.12541

4 33 4 2 2
A:[ll],B:[-l4],C:[_4 8},1):[4 8},15: 3 3 4LF=|0 3 4,[’"‘1}

> 4 2 8 0 3 4 4 4 4]P73
303 2 2y 32
No09 =| det =18 || NolO=| det| |4 3 -3||=-29 | Noll=|G=
4 x 4 -3
3 2 -4
. 3x—z=-22 -3x-3y=-3
~ —3x—4y:29} _[4x—4y:48 ~ B ~ B
System]—[ Sxtyp=-20 , System?2 = 3x—4y=20) ,System3 = y+2z=13 |, ,System4=| -3y+3z=9
x+y=-1 —x+z=28

);9:9:9.0:9:9.0:9.:0.0:9.:0.0:9.:9.0:9:9.0:9.0.0:9.:0.0:0.9.0:9.9.0:9:9.0:9:0.0:9:0.0:9.:0.0:0.:0.0:9.:0.0:9:9.0:9:9.0:9.:9.0:0:9.0:0:9.0:9:9.0:9:9.0:9:9.0:0:9.0:0:9.0:0:9.0:9:9.0:9:9.0:9:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0.:0.¢

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXX XXX XXX XXX XXX XXX XXX XXX XXX XXX XXX XXX XXX XXX XXX XXX XXXXXXKXXXM5/1-6500311-00018XX
Matrices02 for No.12590

2 3 4 2 2 3
A=[-23],B=[-21],C=[_6 'ﬂ,D:[” 8},15:2 2 2LF=|-4 4 -4,[’"‘2}
0

2 26 3 4 0 3 2] P73
3 3 42y 4 2
No09 =| det =-21 | NolO=|det|-4 3 3||=-28|,Noll=|G=
3 x 3 4
2 4 4
B _ . 2y+z=17 2x-3y=-13
System]:[4x+5y__27}, ,SystemZz[ x+3y=-12 ,  L,System3=|3x-3z=6| ,System4d=| x—3z=-20
Sx+y=3 —-S5x+3y=-36

2x—-y=3 2y-z=0
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):0:9:9.:0:9:9.:9:9:9.0:9.:9.0:9:9.0:9:9.0:9:9.0:9:9.0:0.:9.0:0.9.0:9:9.0:9:0.0:9:9.0:0:9.0:0:9.0:0:9.0.9:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:0.0:0:0.0,0:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:0.0:0.:9.0.0.0.
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Matrices02 for No.12621

2 3 4 2 0 3
A:[_16]’B:[17]’C:B '2}132['1; ﬂE: -4 0 3[F=|3 2 z[m_—ﬂ
- ; 4 3 4 4 2 2]P7
3 2 42 4 4 -5
No09 =| det| =-10 |, NolO=|det| |-2 4 -2||=-148 | Noll=|G=
2 X 2 -2
y 2 -3
y+2Z:4 2y_2Z:'8
-S5x-2y= =12
Systemlz[ > Y 30}, ,System2=[x+y }, ,System3 =|-3x+2z=21|, ,Systemd=| x+3z=-15
4x-3y=-1 2x+y=20
—x+3y=-1 2x+2y=-2

);9:9:9.0:9:9.0:9.:0.0:9.:0.0:9.:9.0:9:9.0:9.0.0:9.:0.0:0.9.0:9.9.0:9:9.0:9:0.0:9:0.0:9.:0.0:0.:0.0:9.:0.0:9:9.0:9:9.0:9.:9.0:0:9.0:0:9.0:9:9.0:9:9.0:9:9.0:0:9.0:0:9.0:0:9.0:9:9.0:9:9.0:9:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0.:0.¢
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Matrices02 for No.12641

3 -2 2 4 2 0

cemaome (2 Jo Lo o3 3 Jefd 3 ey
302 4 4 4 3P
4 -3 3
302 3 s
2 -2
_x_Z:_6 _ZX_Z:-II
Systemlz[_5x+4y—12j|, ’SySt€m2:|:_x+y_-10:|’ ,SySt€m3: —2x—3y:_19’ ,SySt€m4: _3y—Z:21
2 x—2y=-24 4x—3y=33
y-z=1 2x+2y=2
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):0:9:9.:0:9:9.:9:9:9.0:9.:9.0:9:9.0:9:9.0:9:9.0:9:9.0:0.:9.0:0.9.0:9:9.0:9:0.0:9:9.0:0:9.0:0:9.0:0:9.0.9:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:0.0:0:0.0,0:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:0.0:0.:9.0.0.0.
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Matrices02 for No.1l2674

0 2 -2 2 4 -4
A= 8],B=[-12],C=B ﬂnz[i ﬂg: 4 3 4l Fe|4 2 o,[’”:ﬂ
] = 2 2 -4 2 3 4] PT
304 22
N009=[det({2 xD=8},No]0= detf |4 -3 4 =-57,N011={G=[3 4H
-4 -2 503
vy 4 3
[ 2x-2z=-10 3 x+y=-10
- 4y=-4 —x+4y=2
System]z[ 3x+dy }, ,SystemZz[ XAy 6}, ,System3 = 3x+2y=3 | ,Systemd=| 3y+z=1
3x+4y=44 2x—y=-3
L 2y—-3z=6 xX—z=9

);9:9:9.0:9:9.0:9.:0.0:9.:0.0:9.:9.0:9:9.0:9.0.0:9.:0.0:0.9.0:9.9.0:9:9.0:9:0.0:9:0.0:9.:0.0:0.:0.0:9.:0.0:9:9.0:9:9.0:9.:9.0:0:9.0:0:9.0:9:9.0:9:9.0:9:9.0:0:9.0:0:9.0:0:9.0:9:9.0:9:9.0:9:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0.:0.¢
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Matrices02 for No.12728

0 2 3 30 -4
702 12 -6 m=2
A—[19],B—[15],C—[4 _2},D—[_4 4},E— 2 4 4L F=-3 -4 4,[[,:1}

2 4 4 3 3 4
-3 3 232 -5 4
No09 =| det =3|,NolO=|det|-4 3 3||=17 | Noll=|G=
x 3 2 4
3y 3
B B 2x-3y=11 2y+3z=0
System]z[;liiiy:-;ﬂ, ,System2:[_jis3)_)_lﬂ, ,System3 = 3x—-2z=12 |, ,System4d=| 2x—-y=38§
y= Y= 2y-z=13 —x+3z=-19
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